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2/6 POFk 400
2/28 = OfXE: 13,470
2/28 OB A Bk 5,000
2/28 2 Ok 5,000
3/1 MO Tk 5,000
3/1 MO F#k 5,000
3/3 1OF 5,000
3/8 HOEERk 2,000
3/15 T OHEFk 3,000
3/15 HOAI Tk 1,000
3/15 BE Ltk 1,000
3/15 mOF S Fhk 5,000
3/156  [HOERTH 5,000
3/15 [ ROFERKTFH 2,000
3/15 BE Ltk 5,000
3/15 #Ofk 2,000
3/15 hy=y gy Tk 5,000
3/15  [KOEHETFH 2,000
3/15 BE %tk 3,000
3/15 | LO#FIERR 1,000
3/15 BOBIRER 3,000
3/15 BE &tk 1,000
3/24 BOERFHR 2,500
3/24 AT70A akk 5,000
3/25 T OF R 20,000
3/26 |[MRAZHR DT DR 13,000
3/28 ROATHR 5,000
3/29 AOHF IR 2,000
3/29 ROATHR 7,550
3/31 NZ0k BV 5,000
3/31 EZ0V~ bk 3,000
3/31 =OfKEk 23,518
3/31 B Otk 6,150
3/31 FEE Kik 30
3/31 OHANAF v X7 —o > 3w 10,000
3/31 = O kR 4,200
3/31 2 Ok 1,400




